



10/21/2025 00010144

Prepared for:

Account Name City of Port St Lucie Project State,

City of Port St Lucie, FL

County or DOT

Product Code	Product Description	Quantity	Unit of Measure	Sales Price	Total Price
PTS2000N	JTI PTS 2000 Solar Powered Portable Traffic Signals - 1 Set (2 Trailers, with 2 three section heads), which includes: Galaxy Operating System:10 Day Split programming, Ability to control up to 16 traffic phases, Dynamic Clearing Function.		SETS	\$55,865.00	\$111,730.00
Extended Arm 2020 with 5 Section Head	Extended Arm 2020 with 5 Section Head	4.00	EACH	\$2,350.00	\$9,400.00
VID2000	Video Detection Set of 2	2.00	EACH	\$10,500.00	\$21,000.00
Galaxy RMS	Galaxy Remote Management System	2.00	EACH	\$1,230.00	\$2,460.00
RMF	Remote Management Fee - One Year Fee	2.00	EACH PER YEAR	\$300.00	\$600.00
Sentinel Pedestrian Crossing	Pedestrian Crossing Mounted on a Cart	8.00	EACH	\$11,250.00	\$90,000.00

**Total Price** \$235,190.00

Notes Freight not included

ADDCO PTS2000

Description

ADDCO PTS 2000 Solar Powered Portable Traffic Signals - 1 Set (2 Trailers, with 2 three section heads), which includes: Fully Automated Mast Deployment, Lifting Eye for Trailer Placement, Retractable Tongue for Safety and Security, Two 260w Solar Panels, Solar Tilt and Rotate, 8, 6 volt 225 amp-hour deep cycle Heavy Duty Batteries, 110 volt option, Electric Brakes, Low Power Consumption LEDs, Galaxy Operating System: 10 Day Split programming, Ability to control up to 16 traffic phases, Dynamic Clearing Function, data logger & PTS-2000 Manual. Includes Onsite PTS training, 24/7 telephone support and JTI Training website.

FOB Dixon, IL

Terms & Conditions John Thomas, Inc. warranties that each new PTS-2000 will be free from defects in material and workmanship for a period

PTS Sale of two (2) years, non-transferable, from date of shipment. John Thomas, Inc. warranties each new PTS-2000 for a period

of ten (10) years from date of manufacture against defects in workmanship arising from normal use. This 10-year warranty

is exclusive to the trailer and does not include any bolt-on or otherwise add-on components or paint.

**Expiration Date** 12/31/2025





10/21/2025
00010144

Signature

Prepared By:

Mike Ortiz





10/22/2025 00010142

### QUOTATION

City of Port St Lucie

Project State,

City of Port St Lucie, FL

County or DOT

Item ID	Product Description	Quantity	Unit of Measure	Rental Price
PTS Rental	Portable Traffic Signal Rental	1.00	MONTH	\$26,000.00
PTS Rental	Portable Traffic Signal Rental	1.00	PER SET PER MONTH	\$6,500.00

## Monthly Rental Price

\$32,500.00

Notes

PTS Rental Price includes the following:

- -2 Sets of PTS 2000 w/ extended arms and 5-section light heads (stacked)
- -8 Pedestrian Carts w/ push button activation and solar
- -4 Video Detection Devices
- -2 Remote Management Units (1 per Set)
- -Delivery, set up, and 24/7 support

The \$6,500 option includes an additional Set of PTSs with the same configuration.

#### Terms & Conditions

PTS Rental

Terms & Conditions Solar Powered Portable Traffic Signal System rental from John Thomas Inc. includes delivery to the project site, programming and removal upon project completion. One set of Portable Traffic Signals consists of 2 trailers with two 3

section signal heads and single ring controllers. Signed lease agreement and certificate of insurance required.

After the first month, rent is prorated on a daily basis.

If the signals are deployed during the winter months, December 1st thru March 1st, the contractor will provide a 110 volt power source to charge the signals.

If JTI Technician is needed for relocation, fee may apply.

The Services provided will be invoiced to the contractor as rent. John Thomas, Inc. will not be listed as a subcontractor.

This quotation Does Not Include any Federal, State, or Other Sales or Use Tax.

A finance charge of 1.5%,(18.0% annually) will be assessed on amounts over 30 days.

**Expiration Date** 12/31/2025

Net 30 Days

Signature





10/22/2025

00010142

Prepared By Mike Ortiz

Email mortiz@jtitraffic.com